
PACK P/M

1 Back Cushion 靠背 1150271 R54010
Fabric Content:
100% Polyester

Cleaning Code: W
3 K M

2 Cushion Hinge (w/Screws) 座垫合页 1150271 R54014 Metal 2 G P
3 Sleeper Hinge (w/Screws) 床合页 1150271 R54015 Metal 2 G P
4 Support Leg (w/Screws)  支撑脚 1150271 R54016 Metal 1 G P
5 T-Nut (M8 x 30mm) 内外牙 1150271 R54011 Metal 7 G P
6 Leg(L=150mm)(Vendor MI) 脚 1150271 R54012 Plastic 7 F P

7 Hardware Pack (Vendor MI) 五金包 1150271 R54017

M8x100mm Bolts (7)
 M8 Flat washer (7)                                                                 
M8 Lock washer(7)                                      
Allen wrench (1)

1 G P

8 Leg(w/Bolt)(L=150mm)(Vendor AJ) 1150271 R71033 Plastic+Metal 7 F P
9 Washer(45x2mm)(Vendor AJ) 1150271 R71037 Plastic 7 G P

10 Cushion Strap (w/Screws) 1150271 R71034
Fabric Content:
100% Polyester

Cleaning Code: W
2 G P

SIGNATURE DESIGN BY ASHLEY® All Rights Reserved. November 2021 Page 1 Of 1

NOTE: Part #s 6,7 for Vendor MI only and serial#s begin with 62575
            Part #s 8,9 for Vendor AJ only and serial#s begin with 67519

REPLACEMENT PART DESCRIPTION FORM
MODEL #: 1150271

PART# DESCRIPTION USED ON: MRP# MATERIAL QTY.
FACTORY USE ONLY!!

1

2

3

6

4 5

8

9

7

2

10

10


